N
<
0]
=

mean # PXL hits vs eta

ol
[
-
N
[
. :

<pixel hits> [

--

--

¥

-

<pixel layers>

w
a1

!
>y

-

e

w
TTTT TTTT TTTT T
A

N
|+.'|
:

* .
.
e
.}
_i

|
!‘ _

&
& II\|>IIII.

.....................................................................

N
T
=
2]
[T

.....................................................................

=
T TrrT

=
T T T

.....................................................................

o
6)]
T

+H§++—H++*+++§:+++w+++++;+++++++++;++*++++#§#++'+'+*°“

Ratio

=
TT

Ratio
s II- T T T

*H%%WWWWH+++++++++H*HH*HH+"

++++ i

e 12 3 0985352170 12 3

oty

—=— DQM_TT__PR43146

mean # STRIP hits V|

—e— DQM_TT__PR43146_swap

MpTg g
12f ﬁ** ------ TR i+++ .........

<strip hits> ™
<strip layers>

= N w s a1 [*2) ~l (ee) (e
T T T T T[T I T T[T T T T[T T T T[T T T T[T T T T TTTT [ TTTT

Ratio




	Contents
	Page 1


